2 KEBHOWH (EM22FI12AXK)

O EALEEROHAE (37.5%) HKEIRFS1/3—TH5.

1) SERR
= % TR295F T35 ERE BERE®)
% &£ # % 4,097 4,497 -400 -8.9
% E3 B 78 77 1 1.3
5 b & B & 48 46 2
[ Bm=® 61.5 59.7
] & g 4,758 5,317 -559] -10.5
O MifEL b, REFERRTEERIRD LTVSH, BEREHIL TS,
O RERIBADS LEBEZBATHS,
2 | Se 4
N ()
ESD 5 3 2 3 9 9 10 7 8 11 4 10 2
—O— {14 52 40 56 415 628 463 476 455 671 523 208 110
O REMMIESH (16F~188) OBMBBESRELTLS,
(3) EBRRIRBI SRR
B4 FR29%E T R285 M HRE
[ & 3 [ & BE | %E | BF | &% & BE
ES L] [ 4,097 78 4,758 4,497 71 5,317 -400 1 -559 -8.9 1.3 -10.5
ARG = 647 12 74 616 13 ViE] 31 =1 30 5.0 1.1 42
;{— an 1,188 19 1,301 1,284 10 1,449 -96 9 -148 -1.5 90.0 -10.2
= H 1,835 31 2,082 1,900 23 2,160 65 8] -118] 3.4 34.8| 55
| FERE (%) 44.8 39.7 42.9 42.3 29.9 40.6
FEELGES 374 8 455 655 7 814] 281 1] -350] —42.9 143 -44.1
h - 7 200 13 247 211 14 283 -1 -1 -36 -5.2 -1.1 -12.7
E & % 1,688 26 2,014 1,731 33 2,060 43 -1 46| 2.5 212 22
O RHBROM SHMTRHTRELTNS,
() EHERFIRERR
E4 T RR29% T R28%5 1 HmE
# EE s x4 EE 55 x4 EE 55 x4 EE 85
£ = & 4,097 78 4,758 4,497 71 5,317 -400 1 -559 -8.9 1.3 -10.5
% WE S 72 3 70 80 1 82 -8 2 —12[ -10.0 200.0 | -14.6
A # M b 231 21 216 286 15 280 -55 6 -64( -19.2 40.0 -22.9
2% PIEE 130 2 130 100 4 102 30 -2 28] 30.0 50.0 | 21.5
& 433 26 416 466 20 464 -33 6 -48 -1.1 30.0 -10.3
Bt & m 331 9 331 449 6 454 118 3 —123] -26.3 50.0 | -27.1
!E:E x W 169 1 170 146 148 23 1 22 15.8 - 14.9
i{- n i 159 3 162 134 1 136 25 2 26 18.7 200.0 19.1
| # 659 13 663 729 7 738 =70 6 -5 -9.6 85.7 | -10.2
In T 116 7 174 150 1 231 -34 -4 -57( -22.7 -36.4 -24.7
B %= 1,126 3 1,490 1,339 4 1,783 -213 -1 -203] -15.9 —25.0 | -16.4
Ew =& BB 730 6 870 860 7 1, 051 -130 -1 -181 -15.1 -14.3 -11.2
EE o 317 1 354 281 4 321 36 -3 3] 12.8 -75.0 10.3
BE i B 157 164 155 162 2 2 1.3 - 1.2
T 0 385 3 446 322 5 372 63 -2 74 19.6 -40.0 19.9
& 2,831 20 3,498 3,107 31 3,920 -276 -1 -422 -8.9 -35.5 -10.8
EREM - HIE 174 19 181 195 19 195 21 -14] -10.8 1.2
O REHMIE. BENRLS . ROUTHAENS 1, BERE. BFhHRRESL.,
(5) BEWEROHERR
B4 FR29% T FR284F o BRE
e | wE [ oE | an [ wE | %5 | x| wE [ #E | a% | %5 | #F
3 = #&| 4,097 4,758 4,497 77| 5,317 -400 1 -559 -8.9 1.3 -10.5
] ] 12 47 15 73 -8 -26 | -20.0 —] -35.6
FlN B & 14 127 90 142 -16 -15 -17.8 —| -10.6
Blp g £ 73 95 66 1 77 7 -1 18| 10.6 | -100.0 | 23.4
& 159 269 m 1 292 -12 -1 -23 -1.0 -100.0 -1.9
& & £ 117 126] 144 1 161 27 -1 | -35| -18.8 | -100.0 | -21.7
= il &| 1,51 977( 1,603 46| 1,092 -92 2 -115 -5.7 4.3 -10.5
BB ESA/ | 1,257 664 1,311 23] 707] 54 5| -4 -41| -21.1] -6.1
£ =3 & 1,01 704 1,127 5 77| -116 5 -67 -10.3 100.0 -8.7
EEF54,—| 838 526] 955 4] 588 -117 3] 62| -12.3 75.0 | -10.5
= O G ] 173 707 849 9 173 -76 -3 -66 -9.0 -33.3 -8.5
B o® = @ 343 310] 319 8 21| 24 -3 33 75| -31.5| 11.9
O BEEROMSH (83.2%) H&l K51/ A—IL3EHTHS.




